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mNA 152
MmN 162
mNA 35
MmN 38E
Y 10kg = 1A 8 kg | 2,900 KR FiE
J1) 8/9kg 5 1A 5 kg | 2,300 KE ETBE
Y 10/13kg dbiEE 1A & kg | 1,400 a¥ FE
) 9/10kg i 1A bS] kg | 1,700 EBE
7Y 7/8kg ek 1A i kg | 1,500 EiE
7 4kg i 1A i kg | 1,150 EE
7Y 7/8kg B 1A & kg | 1,000 A EX
houA 3kg =i 1A 78 kg | 2,200 # BEA
£ HA 4E Gide 5/5.5kg 78 ke | 3,500 # BEH
< B A 5FE EEdbn 5/5.5kg 8 kg | 3,200 # BEH
£ B 6/ Edoa] 5/5.5kg i kg | 2,900 # BEH
Y5 3/4kg BB 1A e kg | 2,500 & BEH
VAP 2E = S5kg& & kg | 2,200 EE BE
VAP 2kgd 55 1A 5 kg | 2,200 EiE
TH 1.5/2kg B 1A i kg | 4,000 TE FX
=R 2kgH R 1A & kg | 2,200 EE
ARXF 2/4kg ' 1A %8 kg | 2,000 EE
ES<Y 1.9/2.2kg aF 1A & kg | 1,600 EiE EX
EAH =i 5kg e kg | 1,400
B574—L 6/74% pillli24 5kg & kg | 2,000
MNER[FHR =] 500g P P | 1,000
EBAHXIYY A L 120g P P 650
BERBF dbiEE #9450¢ P P | 1,000
EimE EEdin) 500g P P | 3950
2502 av7 100g & # | 2,500




